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'PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

The brain of the computer, which does the
Passage I: calculation and data processing, is the central
processing unit (CPU). The other three units
are connected to it. The input unit is the part
of the computer that is used to feed it with
data — that is, the numbers, words or other
kinds of things that it needs to work on in
order to perform a calculation or some other
operation. New data' is usually “entered”
using a keyboard, which is the most common
input umt, while previously keyed data is
often “loaded” from a tape cassette or floppy
disk. The input data is received by the CPU
and passed to the computer's memory unit,
where it is stored ready for use by the CPU.
The memory unit also contains a set of
mmstructions. The CPU takes the data and
the instructions from the memory and follows
the instructions to carry out an operation
- using the data. This
produces a result from the data which goes
back to the memory until it is needed. Then,
the CPU extracts the result and sends it to
the last unit, which is the output unit. The
output unit may be a monitor, printer, or
a device for storing the information or for
transmitting it to another computer.
76- What can be the best title for this passage?

1) Data processing 2) How acomputer works

3) Main kinds of computer 4) The brain of the computer
77-  After the data is received by the CPU, ---—--— .

1) it is stored in the memory unit 2) it is transformed into instructions

3) it is sent to-the output unit 4) it is immediately used by the CPU
78- The word “it” in line 15 refers to ------- -,

P 2) memory unit 3) data 4) computer
79-  According to the passage, the output unit ——------—-- 2

1) sends information to the CPU 2) is connected to three other units

3) sends results to the memory unit 4) stores the result produced by the CPU

80-  Which of the following statements is NOT true according to the passage?
1) The input data is stored in the. memory unit.
2) The CPU is a device for information processing.
3) The input unit is the first unit to receive new data.
4) The CPU contains the instructions to perform a task.
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Passage II:

Disks give direct access by allowing the computer to go directly to the data that is wanted. A magnetic
disk is an oxide-coated disk, like a small LP, on which data is recorded as magnetic spots. Small, flexible
floppy disks or diskettes can store up to about one megabyte. They are very cheap but prone to wear and tear.
They are kept separately from the computer and loaded when required. Hard disks, which are built in to some
computers, are more expensive, faster, more reliable, and have a bigger capacity — typically 20 — 80
megabytes. Optical disks, which are read by laser, can store vast amounts of information and are therefore
useful for storing such things as the data needed to produce moving colour pictures, which take up a lot of

memory.
81-  This passage is mainly about ------- -

I)kinds of disks 2) the uses of disks

3) what disks include 4) how to record data on disks
82- According to the passage, diskettes --——-— -

1) are part of computers 2) are damaged easily

3) have a very big capacity 4} are more expensive than hard disks
83-  The phrase “take up” in the last line is closest in meaning to -------- 1

1) use 2) have 3) need 4) change
84-  Which of the following statements is NOT-true about optical disks?

1) They are read by laser. 2) They have a big capacity.

3) They are covered by oxide to produce color. 4) They store data needed to produce pictures.
85- The passage states that hard disks -——------ -

1) are loaded when necessary 2) are separate from computers

y 3) store a lot of information 4) cost less than magnetic disks
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void main()
{ int sum=10;
for(int i=1;i<=n:i++)
for(int j=1;j<=i*i;j++)
if(j%i==0)
for(int k=0:k<j:k++)
sum-+-+; ]

void main()
{ int x=0,total=0;
while(x++<=5)
total+=x++;
cout<<total<<x; }

int x=1;

void a()

{ int x=25;cout<<x++;
cout<<x; !

void b()

{ static int x=50;
cout<<x++; cout<<x; }
void ¢()
{ cout<<x++; cout<<x; }
void main()
{ int x=5;cout<<x;
{ int x=T7; cout<<x; }
cout<<x; 1

void main()

i int a[3][3]={{1,8},(2,4,6),(5)};
cout<<a[l][1]; }

void fl1(int b[], int §)
{ if (s=0){
f1(&b[1].5-1);
cout<<h[0];} y
void main()
! const int s=10;
int a[s]={0,1.2,3.4.5,6,7.8,9};
f1(a,s); H
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b 3 ol (g 3lwasli
! s g5 (La)das oluS (g5 ars) ool p 32
void f1(const int *xptr) 14 0
void main() 24t
{int X,¥3
int * ?mnst plr=&x; {2 3 (¢
f1(&y); *ptr=T; i3
ptr=&Yy; § /14

class rational{
public:
rational() {cout<<"1 object is born\n"';}
~rational() {cout<<"2 object dies\n";}
private:
int num,den; };
void main()
{
{ rational x;
cout<<"3 now x is aliveln"'; }
cout <<"4 now between blocks'n";
{ rational y;
cout<<"5 now y is alive\n"; }

class test{

public:
test(int=0);

void print() const;
private:

int x; [
test::test(int a)
(x=a; }

void test::print() const

{ cout<<x<<this->x<<(*this).x;}
void main()

{test testobject(02);
testobject.print(); }

class rational{

publie:

rational(int=0.int=1);

rational(const rational&);

void operator=(const rational&);

private:

int num,den; };

void rational::operator=(const rational& r)
{ num=r.num; den=r.num; }

void main()

b 3
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(el plus g5 g, dig, whalip 58 =YY
class :{{ XX25xx88 ()
public: XX25yy38 (¥
?mid f() { cout<<"XX";} XX2yyxx58825 (v
int a; }; XX2yyxx58888 (f
class Y:public X {
public:
void f(){cout<<"YY";}
1) LA

void maing)

{ X x; x.a=2; x.f();
cout<<x.a;

Y y; y.a=5; v.X::a=88;
y-10; y-X::1();
cout<<y.a;
cout<<y.X::a;

X z=y; cout<<z.a; i

Tl b oyleds pluS (cad 3 a1 yol gy asgy gdoliy 40

class X { 123456 (

public: 135246 (¢
X({cout<<"X::X()constructor executingin";} /1 135642 (v
~X({cout<<"X::X()destructor executing\n";}}; /12 132546 ¢f
class Y:public X{ {
public:
Y()icout<<"Y::Y(jconstructor executing\n";} //3
~Y(){cout<<"Y::Y()destructor executing\n";!}; /4
class Z: public Y {
public:
Z(int n){cout<<"Z::Z(int)constructor executing'n';} //5
~Z() {cout<<"Z::Z()destructor executing\n"; }//6
s
void main()
{ Z 2(88);:}

-1
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#include" string.h"
class person{

public:

person(const char™® s){

name = new char[strien(s)+1]; strepy(name,s);;

~person(){delete(] name;|
protected:

char® name; }3

class student: public personi
public:

student(const char* s,const char® m):person(s)
fmajor=new char[strlen[m}ﬂ];strcp}r(may}r,m};}

~student(){delete[Jmajors}
private:

char® major;

13

void main()

{ person x("'parsa");

student },r("faradad","parsiaﬂ");}

£l sy o ylae P10 eg3 42 93 Gaslipy 4y dzgiy —NIY

43S e yLaxl |, PETSON (sosijlo s on (3ler diged X (Y
225 e jlaxl |, person cgodiilu lasl co9d oo Gyl digei ¥ S5y (¥

gl oo _,La}[ V.G T aﬂu <l person edeay .ay_u lozsl X gyl dlged L) (t
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void main()

{ char c;
cout<<cin.eof{();
while((c=cin.get())!'=EQF)
cout.put(c);
cout<<c<<cin.eof(); }

005021
05020502 1 «x
0050205021 (v

005020502 1 (¥

Cnl 218 sael iy el g 3513 Hello Azmon Amordad cog:9 31 5510y 4395 gaeliy 3o -

void main()

{ char sl [80],s2[80];
cin=>sl;
cin.get(s2,80);
cout<<sl;
cout<<s2; }

#include<iomanip.h>
void main()
{ int n=88;
cout<<m
<<hex<<n
<<dec<<n
<<pet<<n; }

HE’HG -.,;.:!L‘:- (1
Hello Azmon Amordad b= (Y
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